X &YX} T2 XA & W A FY(H)

20170508 L= 20174 A E[Fo S R/A(1E) A 500,000
20170510 7= FRAAL BT 2t 5|00 w2 PRAAR ZHE 615,000
20170510 7t= H[2tofl gk A2 Z7|CH 3| MZIHE| 2AR Y 2het 167,000
20170510 7= FotA R FAX|A U A Y 2 179,000
20170510 7= Algloll Al o7k A EEE 2R 2k 290,000
20170510 7te 2017 M373| MEtS = sollM Sz Hotxt 29 377.000
20170510 7= Ayt HAs8 H377| nZe|tinby 24k 2ol w2 s 7iE 565,000
20170510 7= T O{UA E 7| XEh L £0f SA4E HS 168,000
20170510 7= AlY Bt EEE I8t AE BHAIKRF ZHE 230,000
20170510 =1 14z Melgsz Al HAZE sholSH |3 Aot 24 500,000
20170515 a 20179 2Eb7| E|3 0| E SR MAAB2E) EOlct He 500,000
20170526 7te Hg3| Afeta DAAET| M5 ZFR2 of PO EUbM ek A 1,094,400
20170526 2 A BZEAF. 5293 X &(58) 850,000

20170530 E = T2 A SSAE ML S st FUGEE) 400,000




